650-3-44R
CON ROD FIXTURE

OPERATION AND MAINTENANCE MANUAL

8029 S 200th St. Kent, WA 98032 USA | www.rottlermfg.com | Ph: 253-872-7050 | Fax: 253-395-0230
18.09.18






ORDERING PROCEDURE

Contact your regional Rottler sales rep for assistance in ordering optional equipment, replacement parts,
or tooling.

If you are unable to contact your regional Rottler sales rep, call the factory at 253-872-7050 and ask to
speak to the parts sales specialist.

Have the following information handy to expedite the ordering process:
1. Your name, business name, and contact number
Customer number

If you don’t have a customer number, your billing address

Machine model and serial number

2

3

4. Shipping address if different from billing address

5

6. Part number and description of what you want to order
7

Preferred method of shipment

You may also contact us via e-mail with the above information. Send e-mail requests to:

parts@rottlermfg.com or intlpart@rottlermfg.com

In some cases you may be requested to send a photo of the part you are ordering if it is a replacement
part, or doesn’t appear in the database.

If you are unsure which part you need to order, contact our service department and ask to speak to one of
our service consultants. They will assist you in determining which part you require.

THERE IS A MINIMUM ORDER OF $25.00


mailto:parts@rottlermfg.com




650-3-44R Con Rod Fixture 1 Fixture Manual

Initial Alignment Of The Connecting Rod Fixture

Make sure the fixture is bolted down to the table of the machine.

Start by pressing the left locate button on the control panel.

Remove the centering block.

With the probe find and zero the center of the centering lever.

Zero the Y Axis in the software on the DRO.

Move to the right side of the fixture and activate the right locate button.
Remove the locator plate.

With the Y Axis still on its zero bring the probe down, or an indicator and find the difference of offset of the
locator holder.

Loosen the lock nuts(650-3-46T) on both sides of the fixture.

Tighten and loosen the locator nuts to bring the offset to less than .0005”.

Torque the nuts to 15 ft Ibs and alternating from one side to the other tightened the set screws one at
a time until all six are tight. Check that when tightening that the locator holder hasn’t moved.

Air Pressure Settings

Right Hand Side Air Gage: Locate Right 100psi (6.5Bar)
Second from Right Hand Side: Light Clamp 15psi (1.0Bar)
Second from Left Hand Side: Locate Left 30psi (2.0Bar)
Left Hand Side Air Gage: Wedge Engage 30psi (2.0Bar)

www.rottlermfg.com



650-3-44R Con Rod Fixture 2 Fixture Manual

FIXTURE RESET

WEDGE ENGAGE LOCATE LEFT LIGHT CLAMP LOCATE RIGHT

0 o=

WEDGE RELEASE CLAMP RELEASE

ON

Machining Set Up Procedure Of Con Rod Onto Fixture

Select the widest big and small end ball locators that will fit inside the con rod big and small end bores.

Press Locate Right and the right hand ball locator will move up and stop against its end stop, then remove
the air pressure supply to the con rod fixture so that the ball locator pivot arms may be moved manually.

Fit the selected ball locators to the right and left hand mounting positions. Be sure there are no chips and
that the locators fix exactly in their mounting positions.

Connect the air pressure to the fixture.
Press Locate Right Button, the right hand ball locator will move up and stop against its end stop.
Select the correct con rod support and place across the con rod fixture.

Place the con rod to be bored into the fixture so that the big end bore touches both the balls of the right
hand ball locators.

Adjust the con rod rest so that the rod lies approximately horizontal.

Adjust the 3 big end support pads so that each support pad locates on the side of the big end and does
not protrude into the big end bore. This will require removing and refitting the con rod to be sure the 3
support pads are correctly located and their hold down cap screws are tight.

Readjust the con rod support to allow the con rod to lie horizontal with no rock or tilt of the con rod on the
3 big end support pads.

Remove the con rod from the fixture.
Press the locate left and the left hand small end ball locating device will lift up.

When the left hand ball locating device is at its end of travel, place the con rod back in the fixture and
adjust the left hand slide assembly so that both the left hand locating balls contact the bore inside the con
rod small end.

www.rottlermfg.com



650-3-44R Con Rod Fixture 3 Fixture Manual

Remove the con rod from the fixture.

Slide the left hand locating assembly approximately 1/2” (12.7mm) to the right and lock both hold down
handles securely, this will ensure that the small end ball locators contact the small end with some preload.

Place the con rod in the fixture.

Position the clamp arms so that their feet are approximately 1/8” (3mm) above the side of the big end, be
sure that hey do nor protrude into the big end bore to be machined and adjust their travel limit stops and
lock the lock nuts.

Press the Light Clamp button, this will places light clamping pressure on the clamp arms and lightly hold
the con rod down against the 3 support pads under the big end of the con rod.

Press the Locate Left button, the small end ball locator will move up and contact the bore of the small end
of the con rod and firmly press it against the big end and straighten the con rod along the center of the
fixture.

Select a set of wedges that will allow the outside of the small end of the con rod to be supported during
boring so that there is no chatter or vibration during boring.

Press Wedge Engage button, the wedges will be pressed against the outside of the small end.
The con rod is now ready to be bored.

www.rottlermfg.com



650-3-44R Con Rod Fixture 4 Fixture Manual

Clamp Arm
Assembly

>
o]
€
Q
(/)]
[7)]
<
()
(@)]
@©
g £ >
® O
O GCCE
38
o<
o O
€ £
wE
L

o>
%_Q
o 5
5 &
-E<E
o
O

www.rottlermfg.com



Fixture Manual

650-3-44R Con Rod Fixture

©,
Ao @@/@ 2
X P e o @
)/ )
9 ‘&vr o ()
@ o
‘m\&’_ O—_
\/.,i/‘%“ £\

2\

www.rottlermfg.com



650-3-44R Con Rod Fixture

Fixture Manual

Small Precision Connecting Rod Fixture Parts List

ITEM|QTY PART NUMBER DESCRIPTION
1 1 [650-3-67B Small Frame
2 2 |650-3-46T Lock Nut REID BLN-105
3 2 |650-3-46U Flange Bearing Symmco SF-2832-12
4 1 |650-3-46G Pivot Shaft
5 1 |650-3-46N Locator 1.78
6 2 |650-3-46C Tooling Ball Reid #TCB-26820
7 1 |650-3-46] Locator Holder
8 1 |ANSI B18.2.2-1/2-13 Hex Jam Nut
9 1 |650-3-45H Pivot Bracket Right
10 1 [650-3-45K Pivot Bracket Left
11 1 |650-3-45G Locating Cylinder
12 1 |650-3-45] Rod Clevis
13 1 [650-3-47K Stop Screw - Set 1/2-13 x 3
14 1 |650-3-46K Pivot Pin
15 1 |650-3-46L Linkage Arm
16 1 |650-3-47B Support Strap
17 | 2 |650-3-46S Hinge, Dust Cover
19 1 [650-3-46Q Locator Cover Con Rod Fixture
20 1 |PIN1 Included in 650-3-47]
21 2 |E_CLIP Included in 650-3-47]
22 1 |650-3-46H Linkage Pin
23 2 |650-3-46R E-clip - Truearc E-Ring #RE-25ST
24 | 2 |650-3-9 Key
25 2 |MF-21 ANSI B18.3 -5/16- 18 - 5/8 Hexagon Socket Head Cap Screw
26 | 4 |MF-13 ANSIB18.3-1/4-20-5/8 Hexagon Socket Head Cap Screw
27 2 |MF-22 ANSI B18.3 - 5/16 - 18 - 3/4 Hexagon Socket Head Cap Screw
28 | 2 |MF-53 ANSI B18.3 - 10-24 UNC - 0.375 Type B - Hexagon Socket Set Screw - Cup Point - UNC

(Regular Thread - Inch)

29 2 |MF-60 ANSI B18.3 - 1/4-20 UNC - 0.25 Type B - Hexagon Socket Set Screw - Cup Point - UNC
(Regular Thread - Inch)

30 1 |MF-210 ANSI B18.8.2 - 5/16 x 2.1/2 Pin - Slotted Spring

31 2 |650-3-49Q Clamp Base, ConRod Clamp arms

32 2 |ANSIB18.8.2-1/2x3 Pin - Slotted Spring

33 2 |6310R Thread Insert

34 2 |6310N Handle

35 2 |502-8-52C Spring Plunger

37 8 |ANSIB18.3-3/8-16-1 Hexagon Socket Head Cap Screw

40 1 |650-3-48P spring anchor Reid CSA-50

41 1 |ANSI B18.6.3 - 8 - 32 Hex Machine Screw Nut UNC

42 1 |514-7-83N Extension Spring

43 3 |650-3-48L Support Parallel

44 3 |ANSI B18.3 - No. 10 - 24 - 3/8 Hexagon Socket Head Cap Screw

45 2 |650-3-49G Support Tube

46 2 |650-3-49M Spring

www.rottlermfg.com



650-3-44R Con Rod Fixture 7 Fixture Manual

www.rottlermfg.com



650-3-44R Con Rod Fixture

Fixture Manual

Small Precision Connecting Rod Fixture Carriage Assembly Parts List
ITEM | QTY PART NUMBER DESCRIPTION
1 1 |650-3-67 Carriage, Machining
2 1 |650-3-45D Wedge Cylinder
3 2 |650-3-45L Clevis
4 1 |650-3-48] Linkgage, Wedge
5 2 |650-3-48G Wedge Clamp - Medium Con-Rod Fixture ass'y
6 2 |650-3-48K Release Pin, Clamp Wedge
7 1 |650-3-47D Centering Lever
8 2 |100-19A Hardened washer 17/32 1.D.
9 2 |650-4-45 Hexagon Socket Head Shoulder Screw 0.500 x 1
10 2 |650-3-48 Clamp Shoe
11 2 |514-2-39 Handle
12 2 |514-4-5B Stud
13 1 |650-3-47S Centering Block - Medium Long
14 7 |MF-13 ANSI B18.3-1/4-20-5/8 Hexagon Socket Head Cap Screw
15 1 |ANSI B18.2.2-1/2-20 Hex Jam Nut
16 1 |Rod Clevis Pin RC-5
17 2 |ANSI B18.8.1 - 1/8 x 3/4 Extended Prong Pin - Cotter
Square Cut Type
18 4 |ANSIB18.3-5/16-18-1/2 Hexagon Socket Head Cap Screw
19 2 |650-3-45K Pivot Bracket
20 1 |650-3-45F Norgren RLG04
22 2 |legris angle 25x532 Legris Angle 25X532
23 1 |MF-212A ANSI B18.8.2 -3/8x 2 1/4 Pin - Hardened Ground Production Dowel
24 1 |MF-60 ANSI B18.3 - 1/4-20 UNC x 0.25 Hexagon Socket Set Screw - Cup Point
25 1 |Pivot Pin Norgren cyl
26 2 Legris Angle

www.rottlermfg.com




650-3-44R Con Rod Fixture 9 Fixture Manual

N
Small Precision Connecting Rod Fiture Clamp Arm Assembly Parts List
ITEM | QTY PART NUMBER DESCRIPTION
1 1 |650-3-49H Clamp Leg
2 1 |502-8-52C Spring Plunger
3 1 |650-3-45E Clamp Arm Cylinder
4 6 |ANSIB18.3-1/4-20UNC-1 Hexagon Socket Head Cap Screw
5 1 |650-3-49K Clamp Arm
6 1 |650-3-49L Extension
7 1 |650-3-49N Stop Block
8 1 |650-3-34] Thumbknob Reid aj-721
9 1 |650-3-34S Clamp Screw
10 1 |ANSI B18.3 - 1/2-20 - 5/8 Hexagon Socket Button Head Cap Screw
11 2 |514-4-17Y Legris Angle

www.rottlermfg.com



650-3-44R Con Rod Fixture 10 Fixture Manual

www.rottlermfg.com



650-3-44R Con Rod Fixture 11

Fixture Manual

650-3-47T Parts List - Control Panel Complete w/ Air (Buchannan)
ITEM | QTY PART NUMBER DESCRIPTION
1 1 [J1210HPL Enclosure
2 1 BP1210AL Enclosure Panel
3 1 PLC Micro 3
4 1 |650-3-47V Power Supply
5 1 |504-35-3F Din Rail
6 4  |ANSI B18.6.4 - 10-32 UNF - 0.375 Slotted Pan Head Tapping Screw - Type C
7 1 |410-24vdc Solenoid Assembly
8 1 |6389 E-Stop Button
9 1 |504-35-3 BREAKER, 2 AMP
10 1 |Con Rod Lid1l
11 4 RSR HUMPHREY, REGULATOR
12 1 |PMF 532-N01U NWH, BULKHEAD 1/4
13 8 |C2029200 NORGREN, BULKHEAD 1/8
14 1 |Air Fitting2 90 Degree
15 1 |400-7-7 Strain Relief Assembly
16 1 |514-7-74E Ground Block
17 2 |504-35-3M End Cap
18 3 15.110.160PSI 1/8NPT 10/32PMC NOSHOK, 160 PSI GAUGE
19 1 15.110.60PSI 1/8NPT 10/31PMC NOSHOK, 60 PSI GAUGE
20 2 |6491U PUSHBUTTON, WHITE
21 4 |6491S PUSHBUTTON, GREEN
22 4 |502-37-59A PUCHBUTTON, SOCKET

www.rottlermfg.com




650-3-44R Con Rod Fixture 12 Fixture Manual

Wedges for 650-3-44R Con Rod Fixture

650-3-48F Wedge Set

650-3-48G Wedge Set

www.rottlermfg.com



650-3-44R Con Rod Fixture 13 Fixture Manual

650-3-48H Wedge Set

650-3-48N Wedge Set

www.rottlermfg.com



650-3-44R Con Rod Fixture 14 Fixture Manual

650-3-48Y Wedge Set

www.rottlermfg.com



650-3-44R Con Rod Fixture 15 Fixture Manual

www.rottlermfg.com



	650-3-44R Con Rod Fixture Cover
	650-3-44R Con Rod Fixture rev2.1

